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Financial Application Questions

Indicate which formula to use, which variable to solve for, and ‘rhen solve. Compare with your answers
from the TVM solver.
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1. Jason invests $500 in an account that pays interest at a rate of 3.9 %/a, compounded monthly.

a) How much will he have after 6 years? b) How long will it take him to have $1 200?
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2. Jolanda wants to save enough money to buy a $900 wedding dress in 2 years.
a) If her account pays interest at a rate of b) What must her interest rate be if she has
2.1% / a, compounded weekly, how much must $820 today?
she deposit now? (= 02] o coouoss Fuo plitd™

pv= A (140" =

— (o =4
N (=4 Ao = K9 C (%L)

—_loY ol
= G{cx&({.cxx)A(Of%?) | oqTS6 = )

‘ = (xU
L o629 led ) o156 (
“ ¥ 9 'J”M Jeek KS2-

L= . o@O%ClSS per e

&, 66 Do /Bemf

i

- .ol bb

3. John deposits $300 every 3 months into an account that pays interest at a rate of 3.3%/q,

compounded quarterly.
a) How much will he have after 5 years? b) How long will it take him to have $11 000?
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4. Jane wants fo put a $25 000 down payment on.ahouse 3-years from now.
a)'If her account pays interest-at a rate of b) What must her interest rate be if she can
1.7% / a, compounded monthly, how much must - -afford monthly payments of - $600‘>
she deposit every morrrh?
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5.-J ackte is plannmg 1‘0 refire WI‘I’h $500 000 in her cccoﬂm' ’rhu‘l’ pays an m‘l‘er'est r'a'l'e of 45%/a,
. compounded semi-annually. ‘
a) If she wants semi-annual payments for 30  b) If she wants semi-annual paymen‘rs of

years, how much will she receive every $18 000, how long will she receive
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6." Jorge bought a'racing bncycle for $3 500 and agreed to pay the storé back with weekly "M B
payments. The store charges him interest at a rate of 11%/a, compounded weekly. .[~ 22.4 yeas

a) If he wants to pay back the store by the end  b) If he can only pay $20 a week, how long
" of 2 years, how much must he pay every week? will it mjw off his purchase?
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Edna deposited $6000 in dn account that paid simple’ interest at 7:5% /a. - A ‘Q’S' 8 weoks
L a) If she made no further deposn‘s how much b) If the bqlcmce is now’ $36 150, how Iong

~ would she have had in her accotint after 50 “Yids Edna hdd her't ‘money in this account
year-s‘J . ' : (assuming no further deposn‘s)’
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¢) Assume Edna's account paid compound rrrlyerest nﬁs’read compounded annually. How much
additional interest would she have accr-ued aﬁer 50  years? :

A=PCR)T o B ﬂ%%’-‘ v
= oo (1 078)°° | | ‘Q[? /2843 = ,.2256\0
= 223 /38 48 R [ﬂ#&rm =99 ¢38,48

A= P4I, 5o I ;23 138,48 £ oo



